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Instructions : All questions are compulsory. There are 22 questions.
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Question Nos. 1 to 7 are very short answer type questions. Each
question carries | mark.
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Question Nos. 8 to 13 are short answer type questions. Each guestion
carries 3 marks. (Maximum word-limit of answer is 50 words
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Question Nos. 14 to 20 are long answer type questions. Each question
carries 5 marks, (Maximum word-limit of answer is /50 words)
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In Question Nos. 10, 14, 15, 20 and 22 internal options are given.
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Write 1-1 point of Speciality of tha
Making or diagram questions.
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Question Nos, 21 and 22 are related to identification or locating and
labelling of map, carrying 5 marks in each question.
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In which two categories animal husbandry business is divided?

WT-2 R iR Ry fra dn 1 fem 2

In which country Ruhr industrial region is located?
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Transport and communication come under which activity?
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According to the 2011 Census, which State of India has
population?
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Give two examples of pulse crops.
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Give any two examples of fossil fuels. [1]
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What IS petrochcmical industry?
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Write a note on Organjzation of Petroleum Exporting Countri€s
(OPEQ).
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What are the benefits of water transportation (any three points)”
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Write a note on Panama Canal.
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Study the diagram given below and answer the questions :
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(a) Write the name of this rurai settlement pattern,
(h)  Give two characteristics ¢ this sefticment pattern.,
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Explain the main reasons for migration I India (any three P .,
[
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Write a note on rain water harvesting.
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Describe any five factors affecting population distribution and density

in India.
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Describe the composition of rural-urban population in India.
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Mention any five measures of mineral conservation in India.
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What are any two unconventional sources of energy? Write a note on

[1x5=5]
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solar energy.
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Describe any five problems of Indian agriculture.
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Explain in detail the distribution of coal in Chhattisgarh.

Waﬁﬂﬁmﬁﬁmmﬁmmm'

ance of transport and comm

[5]

5]

unication

Explain in detail the import
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Write a note on the Subject arca of Human Geography,
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Write any five characteristics of Large-scale Industries.
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Rice intensive subsistence agriculture is done in which countries?
Write any three characteristics of this agriculture.
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In the given political outline map of the world, identify the following
points and write their names in your answer-copy :
(A) Coal production area in India
(B) Capital of Japan
(C) Grassland in North America
(D) Mountain range in South America
(E) Main river of Africa
M-37B+ P.1.C
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In the give " )
siven political outline map of India, Jocey
following with symbols - ’ € and label th

(A} Tea-producing Area (B) Godavari Rj
n Kiver

() Mumbai High (D) Chilika Lak
€

(E) Kolkata-Chennai Rail Route
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[n the sign-marked map of Chhattisgarh, identify the following and

write their names in your answer-copy !
(A) Capital of Chhattisgarh (B) Main sugar plant in Chhattisgarh
(¢) Diamond production area (D) Jute mill in Chhattisgarh

(E) Thermal power station
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